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Question 1 (9 marks)

Simplif iy’ (x)
4 Simplify == x ==
I TS

h)  Arrange in ascending order of size:

CS1%. 0.502, 05, = ]
IR N UL, B 99

3g3x4 .
¢) Fvaluate \/Eﬂ - :i correct to 3 significant figures,

5.4

d)  Find the value of v if:

\/if\/ﬁ \./\

¢)  Find the value olaand b it‘£‘4 :Qf'b&—.
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Question 2 (9 marks)

a)  Which of the following are rational numbers:

{3, -034, 2, 3z, 15, 0, ~37—}

c) Factorise: 2 -l6p'

Question 3 (9 marks)

2xy42x~6-0y

a)  Simplify’ s
plify 4x" =16x+12

by Expand and simplify: (m=2)" ~(m~2)(m+2)

¢)  Simplify: 4448 1 34147 1 5412
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Question 4 ( s) Question 6 (9 marks)
a) Define a rational number 5 - . PR
and then show that a) Solve x* +8x+1=0 giving your answer in exact simplified form.
! + ! is a rational b ?
— $ ional number
3-V2 3+42 number ;

b) One hundred and fifty Year 1l students were surveyed to {ind out how many
liked algebra or geometry. 85 said they liked algebra and 53 said they liked
geometry while 37 said they liked both. With the aid of a Venn diagram find out

b) Solve: 3x +17 =3x+2 how many students liked:

X
: (i) algebra or geomeltry or both

b (ii) algebra but not geometry

¢) Copy the diagram onto your answcr page twice and shade the arca indicated.

‘ (iii) only one of the two topics

(i) ANDS
{iv) ncither of' the topics

(i) AuB
!
Question 7 (9 marks)
. a) Express 0.367 as a fraction in simplest form.
Question 5 (9 marks)
. . 2 3
a) Simplify: — -—
X ¥5x+06 x7 +O0x1 9
b) X"+ +Ox-8p+30=0 show that (x t ) 1 (-4 5
b) Fac;orise: a’b+2a’ —4b-8§ I“
< T

¢) Solver 3xg5e

¢) Solve simultancously: x"+4y’ =9 and x+y=3
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QUESTION 7 ! (G mAawrcs)

@) Ll o = ©.367
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